Idler Shaft for Adjustable Bracket

ZA 7ovartny—SA7 ARS8

@ BESE @ CAD Download

M M2
7 \
A | vz | I AR AW
— =)
b1 A K B b2 s
L
o & T EIF O rots2ms ® 7w ALY —[YAD] CHPEDLETITEARLRE
ZA AN
i 545C ® FURBEURTUYT Ty vhE 2B BLTVET .
=L EXRZBE (FB) . . . T
_ o RUHY - RURT - 2R - #E - RKEWUELR L, %D
. S AT4—=)b ~ N
Fubk- ERES = ({0 O A — M REOREVELET. BELEDELIZSL,
BTt mm
%5 it @@~7Uv7 D A br M1 K C b2 M E B s L o
((Z)) (kg)
ZA6200-15 650 62001 10 85 |14 M10X1.5 [15 |20 |14 |[M10x15 14 75 12 59 |0.09
ZA6201-15 650 |6201x1 12 95 |14 M10x1.5 [15 (20 |14 |[M10x15 14 75 12 60 |0.09
ZA6202-8 670 |6202x1 15 105 14 M10x15 | 8 (20 |14 |M10x15 14 |75 12 54 |0.08
ZA6202-15 670 |6202x1 15 105 |14 M10X15 |15 |20 14 |[M10x1.5 14 |75 12 |61 |04
ZA6203-10 760 |6203x1 17 1.5 |16 M14x2 |10 |24 |14 |M10x15 14 75 12 59 |0.13
ZA6204-12 860 6204%1 20 135 16 M14x2 |12 |24 |14 |M10x15 14 75 12 63 |0.15
ZA6201W-15 700 6201x2 12 195 |14 M10x15 [15 (20 |14 |[M10x15 14 |75 (12 70 |0.1
ZA6202W-10 720  6202x2 15 215 14 M10x1.5 [10 |20 |14 |M10x15 14 75 12 67 |0.11
ZA6202W-18 (760 6202x2 15 215 14 M10x1.5 [18 |20 |14 |M10x15 14 75 12 75 |0.12
ZA6203W-18 (880 6203x2 17 235 16 M14x2 |18 |24 |14 |M10x15 14 |75 |12 |79 |0.18
ZA6203W-25 880 62032 17 235 16 M14x2 |25 |24 |14 |M10x15 14 75 12 86 |0.21
ZA6203W-33 (940 |6203x2 17 235 |16 M14x2 |33 |24 |14 |M10x15 14 75 12 94 |0.24
CRED=L]
[YAD] 7Y v R LS —
[YAF]| 79w R bitILS—
IVFS5-ISUIPARS—
® BEIETE a2 Q@ umsops B NeKrvkvayy

© 7% F—i% - BURLIEHTI = P.oxx
SHEARE]

ZA 6203-10
\

N Bl( WE)TFVvIEH

0575-23-1162

info@nbk1560.com

https://www.nbk1560.com



